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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-14

BTiE) | EBIATK (FD) | EME (EH/HK) | XKR EFRE

01:00 111 50.0 R 1iRi1%@01:00 (K FHfER%=2)
02:00 111 50.0 R ’Ri%@02:00 (KAfEREE)
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13:30 111 50.0 5 FnHAe@13:30 (RFERES)
14:55 111 50. 0 i fnHfe14:55 (REERSS)
23t 999.0 (90%) 450.0 JEPUFHKEC: 1840.0, PH: 6.3
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P3-14

BTiE) | EBIATK (FD) | EME (EH/HK) | XKR e

03:45 120 50.0 FA 1B1%@03:45 (KFEEE)
04:45 120 50.0 |Z & BRi&@04:45 (KPAHEREE)
05:45 120 50.0 |Z & BRi%@05:45 (RFA1ERELEE)
08:55 120 50.0 [ = BRi&@08:55 (KFH1ERLEE)
10:30 120 50.0 |Z= 21£010:30 (RFERE)
11:50 120 50.0 i BRig@11:50 (kRPB{EREE)
13:00 120 50.0 5 BRi%@13:00 (KkBfEREE)
14:00 120 50.0 5 B1%014:00 (RFERE)
15:05 120 50. 0 i 1RRi%@15:05 (KAL)
231+11080.0 (9%) 450.0 323 KEC: 1840.0, PH: 6.4
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H#[El/&KECZE (2105. 0 vs 3065.0) RS

FATREH T % ME#ER S Z XER




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

FRV (ml plant-1)

P3-14_0, Day=7 (2025-04-07)

40 -

1

20

©
oo
=

H =2}
o (=
1 1

N
o
1

V1, V4S8RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 462
350 360 85
09 08
40

172

Warning: lcol [FVI',| "FVO’'] missing I
s v — ME
FRV maxM

""""""""""""""" SRR BN |\ i R B B

—_

.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0,  TargetSetEC=1840.0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6. 4

Warning: lcol ['PHB’,| 'PHC’'] missing

150 -

100 A

50 -

208- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

]
Bylnit @D8 03:16: ET=437 Fg=600.0 Ro=104.0

150 -
100 A

50 -

208- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

PA | BA [P | BA | R [ BE | 5 | R [BF | HE | RE | BF | W5 | RE | BE | R5 | RE | G | Rs [ AR | S | R [ A | HR

ByEt @7 18:07: ET=584 Fg=406.0 Ro=nan

150 -

A1 B[ | 252|225 (25|22 | 0 | B | B | BB |5 | | BF |5 [ | BE | Rs [ BF | HS

1
ByWoFv @D8 0%:16: ET=308 Fg=450.0 Ro=78.0

0.6

0.4+

0.2~

0.0

1500

—_—
| _obs
PPFD_obs

® ® VP

hour

L 400 =
-
E
L 200 =
o
L
= 06
n
L 35
(NN
- 34 2
L 33
32
"
"
"
1000
2
L 750 ©
£
L 500 E
'—
L
L 250 E
[&]
0
L 1000
2
L 750 ©
£
L 500 E
'—
L
L 250 E
[&]
0
L 1000
=
C
L 750 ©
£
L 500 E
'—
L
F250 5
0
"



34.

34.

34.

33.

33.

33.

33.

33.

33.

33.

33.

33.

32.

31.

31.

30.

30.

31.

31.

31.

31.

31.

31.

30.

50 A

25 A

00 -

75 1

50 -

25 A

00 ~

—o— ME

T T T T
600 700 800 90

m=690,m FV0=0

T
500

0

1T —e— MmE f""""'

—— MW

}3

600 700 800 90

m=690,m FV0=0

500

0

-— MW

m

690 695 700

m=480, FV0=0
34. 2 4 - M_E
34.1 -
34.0 A
33.9 A
33. 8 A
33.7 A
33.6
T T T
480 485 490
m=720,m FV0=0
33. 8 A - M_E
33.7 A
33.6
33.5 4
33. 4 4
33. 3 A
T T T
720 725 730
m=480,m FV0=0
30. 40 - - MW
30. 38 A
30. 36 A
30. 34 A
30. 32 A
30. 30 A
480 485 490
m=720,m FV0=0
—— MW
31. 8 4
31.6
31.4 -
31.2 4
31.0 A
720 725 730

34.

34.

34.

34.

34.

34.

33.

33.

33.

33.

33.

33.

33.

31.

31.

30.

30.

30.

30.

31.

31.

30.

30.

30.

m=540, FV0=0

—0—

M_E

T
540

5&5 5%0
m=780,n FV0=0

T _o—

M_E

!

5

T
780

7é5 760
m=540,n FV0=0

1T —e— mw

540

5&5 550
m=780,n FV0=0

1T —e— mw

780

785 790

34.

34.

34.

33.

33.

33.

33.

34.

34.

34.

33.

33.

33.

33.

32.

31.

31.

31.

31.

31.

31.

31.

30.

30.

m=600, FV0=0

—o— M_E

665 6i0
m=840,n FV0=0

—o— M_E

8&5 860
m=600,n FV0=0

—o— MW

i

665 6%0
m=840,n FV0=0

600

- MW

b

840 845 850



hour

100

6:40
80
7:40
9:20 - 60
11:15 _ 40
12:45
20
14:05
-0
%
& ¢§




P3-14

Bfie) | GEBIATIC (7)) | EME (EH/HK) | XS EFE
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24t 720.0 (6%) 300.0 3EUHKEC: 1900.0, PH: 6.1
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P3-14

BfiE) | FEBIETK (D) | E#=E (EH/K) | XK EFF

06:45 180 50.0 (5 RR1%@06:45 (K FHIERLES)
07:25 180 50.0 i BRi%@07:25 (FKPAIERSE)
08:05 180 50.0 A {iR1%@08:05 (R FHIERLEE)
09:15 180 50. 0 5 BRi&@09:15 (KRF1EREE)
10:15 180 50.0 i BRi%@10:15 (RAIEREE)
11:10 180 50.0 5 Rige11:10 (RBERE)
12:00 180 50.0 5 B18012:00 (KRFERE)
12:45 180 50.0 R Big012:45 (KREERE)
13:25 180 50.0 [ Bi%@13:25 (KREAERSE)
14:00 180 50.0 RS B1%014:00 (RFERE)
14:40 180 50.0 R BRige14:40 (KBERER)
15:30 180 50.0 [ B3i%@15:30 (KRHAEHE)
16:25 180 50.0 RS B1%016:25 (REERE)
29t 2340.0 (13%) 650. 0 Z i REC: 1560.0, PH: 6.0
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16:15 210 50.0 (= BRige16:15 (kKBfEREE)
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